Through Shadowed Vales

Valse de Concert
Alto Saxophone Duo for Alto & Tenor Saxophone

Allegro Moderato | HOLMES & SMITfH
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C.L. Barnhousé, Oskaloosa, Iowa.
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Through Shadowed Vales

1st Solo Bb Cornet or

Valse de Concert

C.L. Barnhouse, Oskaloosa, Iowa.

Tenor Saxophone bro - | |
HOLMES & SMITH
Allegro Moderato ~ ' |
i o) " —a N N e
rd A ||
] B
Aﬁfiante.ﬁ Cad. r
1 1 | n
IFWI] l ~ PS-'—-—-—]' _]!_ | | i 1 'd r T |
Pcon amoroso = ! -
: . p— m aftmpo
s . —- I :
| 1 0 0
it | ‘ — b
Tempo di Valse
1 k- ﬂf:l\ 3 .
_'Lb,'r L1 i 1 ] 1 . Jh .!_=_ N Y (|
2 %«ﬁa- s e
WALTZ O\ Y
1 11 ] | ] | | | ]
o | T 1 — ===
mf deciso :
LA 1 | [—— s =
NN 1 I NN x L 1 1 1
e e T e e Tt
} 1 Cornet play
#o7 . kSl > N N
1 hat f - — — A "y
l$wer notes ~ o V7 l :
———— — )
— — - ﬂ 1" i = i = t o
fallegra'mgnte Py
o e £ f .
' a T T poe al N
8 %
TRIO&H: EE i e
P con carita — e '
A TN TN
= HJ = ] T = = L] e T
— T ¢ s -
T ~ — ~—
V2
J = I’J[" oo L 2 1 .
iy — s i.r 3 : J i [—
=" & ;P ——a e —



H

]

fa rticolato

16

=

[ xx

farfz'co!ato

-f'—‘\\,l./"\‘LPiﬁ Mosso

o

= 1

1

===

T

SSEE=5





